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lkekU; funsZ’k %
(I) iz’u”i= esa [k.Mksa esa 26 iz’u fn, x, gSaA lHkh iz’u vfuok;Z gSA
(ii) [k.M” d esa iz’u la[;k 1 ls 5 vfr y?kq”mRrjh; iz’u gSaA izR;sd iz’u ,d vad dk gSA
(iii) [k.M” [k esa iz’u la[;k 6 ls 10  y?kq”mRrjh; iz’u I izdkj ds gSaA izR;sd iz’u nks vadksa dk gS
(iv) [k.M” x esa iz’u la[;k 11 ls 22 y?kq”mRrjh; iz’u II izdkj ds gSaA izR;sd iz’u rhu vadksa dk gS
(v) [k.M” ?k esa iz’u la[;k 23 ewY; vk/kkfjr iz’u pkj vadksa gSA
(vi) [k.M” ³ esa iz’u la[;k 24 ls 26 nh?kZ”mRrjh; iz’u gSaA izR;sd iz’u ik¡p vadksa dk gS
(vii) iz’u”iz= esa lexz ij dksbZ fodYi ugha gS] fQj Hkh nks vadkas okyas ,d iz’u esa] rhu cadksa okys ,d  iz’u esa vkSj ik¡p

vadksa okys lHkh rhuksa iz’uksa esa Hkhrjh p;u”fodY; fn, c, gSaA izR;sd ifj{kkFkhZ dks ,sls iz’uksa ds nks fodYiksa esa ls dksbZ
,d iz’u gy djuk gSA

CBSE SAMPLE PAPER
CLASS-XII



General  Instructions:

(I) There are a total of 26 questions and five sections in the question paper. All
questions are compulsory.

(ii) Section A contains questions number 1 to 5, Very short Answer type questions of
one mark each.

(iii) Section B contains questions number 6 to 10, Short Answer type-I question of two
marks each.

(iv) Section C contains questions number 11 to 22, Short Answer type-II question of
three marks each.

(v) Sections D contains question number 23, Value Based Question of four marks.

(vi) Section E contains question number 24 to 26, Long Answer type questions of five
marks each.

(vii) There is no overall choice in the question paper, however, an internal choice is
provided in one question of two marks, one question of three marks and all three
questions of five marks. An examinee is to attempt any one of the questions out of
the two given in the question paper with the same question number.

[k.M”d

SECTION-A

1- nks tarqvksa ds uke crkb, ftuesa en pdz iznf’kZr gksrk gSA
Name two animals that exhibit Oestrus cycle. 1

2- fcanq mRifjorZu D;k gksrk gS \ ,d mnkgj.k nhft,A
What is point mutation ? Give one example. 1

3- ,d ,DlkWu ls ,d bUVªkWu esa Hksn djus ds fy, ,d varj crkb,A
Mention one difference to distinguish an exon from an intron. 1

4- ,d lafnX/k AIDS ds jksxh esa  HIV dk irk yxkus ds fy, vkf.od uSnkfud fdz;kfof/k dk lq>ko nhft,A
Suggest a molecular diagnostic procedure that detects HIV in a suspected 1
AIDS patient.

5- fdlh Lih’kht ds fy, izd‘fr dh ogu {kerk fdl ckrdk ladsr nsrh gS\
What does nature’s carrying capacity for a species indicate ? 1



[k.M”[k
SECTION-B

6- is’khLrj vkSj vr%Lrj dh fLFkfr ,oa muds dk;ksZa dh ppkZ dhft,A 2

Write the location and functions of Myometrium and Endometrium.

7- ijh{kkFkZ  ØkWl  ¼ladj.k½  ls ,d O;f"V ds Tkhu iz:i dk fu/kkZj.k djus esa dSls enn feyrh gS\ 2

vFkok

Mh +,u +, + cgq:irk ds nks vuqiz;ksx fyf[k,A

How does a test cross help to determine the genotype of an individual ?

OR

Mention two application of DNA polymorphism.

8- e/kqeD[kh ikyu djus ds fy, fdl izdkj ds {ks= mi;qDr gksrs gSa \ bl dk;Z ds fy, vkerkSj ls ikyh tkus 2
okyh fdLl dk oSKkfud uke fyf[k,A

What kind of areas are suitable for practicing apiculture ? Write the scientific
name of the variety commonly reared for the purpose.

9- ladVkiUu tSo fofo/krk ds laj{k.k ds fy, pkj mUur Lo”LFkkus fof/k;ksa dk lq>ko nhft,A 2

Suggest four advanced ex-situ methods to conserve threatened biodiversity.

10- fdlh ty fudk; dk fuXu BOD LoPN ikuh okys tyh; thoksa dh okilh dks lgk;rk nsrs gSaA O;k[;k dhft,A 2

Lower BOD of a water bofy helps reappearance of clean-water organisms. Explain.

[k.M”x

SECTION-C

11- vkS|kSfxdhdj.k ds i’pkr] baXySM esa lQsn ia[kksa okys  ’kyHkksa ds Lfkku ij esykfuuh ’kyHkksa dh lef"V dh 3
o‘f+) gks x;hA bl dFku dh O;k[;k dhft,A

“Post-industrializtion, the population of melanised moth increase in England
at the expense of white-winged moths.” Provide explanations.



12- iqu;ksZxt DNA dk Ikrk yxkus ds fy, ‘varfi"V fuf"Ø;.k’ fof/k dks ‘izfrtSfod izfrjks/kh’ fØ;kfof/k dh txg 3
D;ksa ojh;rk nh tkrh gS\

Why does the ‘insertional inactivation’ method to detect recombinant DNA is
preferred to ‘antibiotic resistance’ procedure ?

13- iqu;ksxt DNA izkS|kSfxdh esa EcoRI ,atkbe dh Hkwfedk dh O;k[;k dhft,A 3

Explain the role of the enzyme EcoRI in recombinant DNA technology.

14- Hkzw.kh; voLFkk dk ukekafdr vkjs[k cukb, tks L=h ds xHkkZ’k; ds Hkhrj varjksZfir gks tkrk gSA 3
nks ukekafdr Hkkxksa ds dk;Z crkb,A

Draw a labelled diagram of the embryonic stage that gets implanted in
the human uterus.  State the function of the two parts labelled.

15- (a)  ,d ifiDo 7 dksf’kdk rFkk 8”U;wfDy;l okys Hkz.k”dks’k dk ukekafdr vkjs[k cukb,A 3

(b) Hkzw.k”dks’k dh dkSu lh ,d dksf’kdk nksgjs fu"kspu ds ckn ,aMksLieZ cukrh gS\

(a) Draw a labelled sketch of a mature 7-celled, 8-nucleate embryo-sac.

(b) Which one of the cell in an embryo-sac produce endosperperm after
double  fertilization ?

16- tSo fofo/krk laj{k.k ds leFkZu esa ladh.kZr%mi;ksxh rdZ fn, tkrs gSaA blh mís’; ds leFkZu esa fn, tkus okys nks vU; 3
rdksZ dh Hkh O;k[;k dhft,A

Narrowly utilitarian arguments are put forth in support of biodiversity conservation.
Explain the other two arguments thaat are put forth in support of the same cause.

17- fdlh igkM+h Lfkku dh lSj djus ij vkids ,d fe= dh rfc;r vpkud [kjkc gk x;h vkSj mls cSpsuh eglwl gksus yxhA

(a) dksbZ ,sls nks jksx y{k.k crkb, ftlds dkj.k ;g ,sythZ gks x;hA 3

(b) fdlh ,sytZu ds izfr gksus okyh ’kjhj dh vuqfdz;k dh O;k[;k dhft,A

©  rkRdkfyd vkjke nsus ds fy, fdUgha nks vkS"kf/k;ksa ds uke crkb,A



On a visit to a Hill station, one of your friend suddenly became unwell and felt uneasy.

(a) List two symptoms you would look for to term it to be due allergy.

(b) Explain the response of the body  to an allergen.

(c) Name two drugs that can be recommended for immediate relief.

18- (a)  g’ksZ vkSj psp us vius iz;ksx esa jsfM;ks lfdz; lYQj vkSj jsfM;ks lfdz; QkWLQksjl dk mi;ksx D;ksa fd;k \ 3

(b) var esa os fdl fu"d"kZ ij igq¡ps \ vkSj dSls \ ppkZ dhft,A

(a) Why did Hershey and Chase use radioactive sulfur and radioactive phosphorus in
their experiment ?

(b Write the conclusion they arrived at and how.

19- (a) vius ijHkf{k;ksa ls cpus ds fy, ikS/ksa }kjk fodflr fdUgha nks izfrj{kk iz.kkyh dh O;k[;k dhft,A 3

(b) ijHk{k.k vkSj ijthork esa varj crkb,A

(a) Explain any two defence mechanisms plants have evolved against their predators.
(b) How does predation differ from parasitism ?

20- ekuo :f/kj”oxZ cgqfodYirk vkSj lgizHkkfork dk ,d vkPNk mnkgj.k gSA ;qfDr laxrrk crkb,A 3

Human blood group is a good example multiple allelism and co-dominance. Justify.

21- (a)  thu”mipkj D;k gksrk gS \

(b) ml fdz;kfof/k dk o.kZu dhft, ftlds }kjk bl izdkj ds fdlh jksx dk LFkk;h :Ik ls mipkj fd;k tk ldrk gSA 3
bl jksx dk uke fyf[k,A

(a) What is Gene therapy?

(b) Describe the procedure of such a therapy that could be a permanent cure for a
disease. Name the disease.



22- leqnz esa tholagfr ds fijSfeM ,oa ÅtkZ ds fijSfeM ds vkjs[k cukb,A cuk, x, fijSfeMksa ds izdkjksa ij vius
fopkj izdV dhft,A 3

vFkok

(a) fuEufyf[kr xzhugkml xSlksa dks muds ldy oSf’od Å"e.k esa vkisf{kd ;ksxnku ds o‘f)eku dze esa fyf[k,%

N2 O;CFC;CO2;C2H4

(b) oSf’od Å"e.k dk /kzoh; cQhZyh pksfV;ksa ij D;k izHkko iM+rk gS\ blds laHkoh ikfjfLFkfrdh; izHkko dh ppkZ dhft,A
Draw a pyramid of biomass and pyramid of energy in sea. Give your comments
on the type of pyramids drawn.

OR

(a) Rearrange the following greenhouse gases in increasing order of their relative
contribution to the total global warming:

N2 O;CFC;CO2;C2H4

(b) What is the effect of global  warming on polar ice-caps ? Comment on its possible
ecological impact.

[k.M”?k
SECTION- D

23- vkidk@vkidh ,d fe= gS ftlds ek¡”cki mlds fnu”izfrfnu ds ekeyksa esa cgqr n[ky nsrs gSaA os mls vHkh rd cPpk gh
le>rs gSa ftlds dkj.k og nq%[kh gks tkrk@tkrh gS vkSj gj le; ijs’kku jgrk@jgrh gSA og lksprk@lksprh gS fd
mlds ek¡”cki mls dqN ekeyks esa Lora= fu.kZ; ysus dk volj nsaA

(a) D;k vki vius fe= dk leFkZu djrs gSa vkSj D;ksa\

(b) bl vk;q”oxZ dh fof’k"Vrk,¡ fyf[k,A

(c) nks uSnkfud mik; crkb,A 4

You have a friend whose parents are too indulgent in his /her daily affairs. They think
him/her to be still young which makes him/her sad and is upset all the time. As he/ she
feeds that the parents should give him/her opportunity to take independent decision on
 some issues.

(a) Would you support your friend and why ?

(b) Write the characteristics of this age grup.

© List  two curative measures.



[k.M” M+

24- (a) ,d ekuo izfrj{kk U;wurk ok;jl ¼HIV½ fdl izdkj ijiks"kh ds Hkhrj izfrd‘fr;u djrk gS \

(b) HIV ls ladzfer jksxh viuh izfrj{krk fdl izdkj [kks cSBrk gS \

(c) bl jksx ds dksbZ nks Yk{k.k crkb,A 5

vFkok

vif’k"V ty mipkj dh izfdz;k dk o.kZu fuEufyf[kr ’kh"kZdksa ds varxZr dhft, “

(a) izkFkfed mipkj

(b) f}rh;d mipkj

(a) How does a Human Immunodeficiency  Virus ( HIV) replicate in a host ? 2+3

(b) How does an HIV-ubfected patient lose immunity ?

(c) List any two symptoms of this disease.

 OR

Describe the process of waste treatment under the following heads:

(a) Primary treatment

(b) Secondary treatment.

25- 

(a) Åij fn, x, izfrd‘fr;u ;wfuV ds vkjs[k esa A vkSj B oy;dksa dks igpkfu, rFkk crkb, fd
fdl vk/kkj ij vkius mUgsa igpkuk gSA

(b) ,d cSDVhfj;e es gksus okyh izfrd‘fr;u izfdz;k es flXek dkjd rFkk Rho dkjd ds D;k dk;Z  gSa\

(c) lqdsUnzfd;ksa es RNA ikWyhejst I vkSj RNA ikWyhejst  III ds dk;Z fyf[k,A 5

vFkok

,d izkd dsUnzdh; dksf’kdk esa rFkk ,d lqdsUnzdh; dsUnzd esa DNA gsfyDl dh iSdsftax dk o.kZu dhft,A

SECTION- E

 

A

B

5’3’

3’5’



(a) Identify strands ‘A’ and ‘B’ in the diagram of transcription unit given above and
write the basis on which you identified them.

(b) State the functions of Sigma Factor and Rho factor in the transcription
process in a bacterium.

(c) Write the functions of RNA polymerase-Iand RNA polymerase-III in
eukaryotes.

OR

Describe the packaging of DNA helix in a prokaryotic cell and an eukaryotic nucleus.

26 (a)  ekuo o‘"k.kksa esa ’kqdzk.kqtuu dgk¡  gksrk gS  dhft,A  

(b) ’kqdzk.kq ds L[kyu okfguh rd ig¡pus dk ekxZ crkb,A 5

vFkok

ijkxd.k ds vius laxr ofrdkxz rd ig¡pus  ds ckn fu"kspu gksus rd dh Qwy esa gksus okyh ?kVukvksa 
dh O;k[;k dhft,A 

(a) Where does spermatogenesis occur in human testes ? Describe the
process of spermatogenesis upto the formation of spermatozoa.

(b) Trace the path of spermayozoa from the testes upto the ejaculatory
duct only.

OR
Explain the events upto fertilization that occur in a flower after the 
pollengrain has landed on its compatible stigma.                

’kqdzk.kq vksa ds cuus rd ’kqdzk.kqtuu dh izfdz;k dk o.kZu 

A

B

5’3’

3’5’




